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1. Compute the coefficient of correlation and the equation of lines of regression for
the given data.

X 1 2 3 B 5 6 f

y 9 8 10 12 11 13 14
2. Fita second degree parabola of the form y = ax® +bx +¢ for the given data.
X 1.0 1.5 2.0 2.5 3.0 3.5 4.0

y 1.1 1.3 1.6 2.0 2.7 3.4 4.1

3. A heavy cable hangs freely under gravity between two fixed points.Show that the
shape of the cable is Catenary.
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- : i = ~ OBE

1. Compute the coefficient of correlation and the equation of lines of regression
for the given data.

X 1 2 3 4 5 6 7

y 9 8 10 12 11 13 14
2. Fita second degree parabola of the form y = ax® + bx + ¢ for the given data.

X 1.0 1.5 2.0 2.5 3.0 3.5 4.0

y 1.1 1.3 1.6 2.0 2.7 3.4 4.1

3. A heavy cable hangs freely under gravity between two fixed points.Shdw that
the shane of the cahle i Clatenarv.

Marks COo RET

(8] | CO4 L3
[7]| CO6 L3

[7]lCO3 L3




Fit a curve of the form y = ge® for the given data.

Xl SS5dT 6 T o 8 | 9 T 10

y 133 35 23 7 2 2

&y deldy

b
Find the extremal of the functiona] J.(x2 (y')z +2p% + ny)ix

Derive Euler’s equation in standard form &d ( 6fJ

Find the total work done by the force F (3xy) y}+ 2xzk

in moving a particle
round the circle x* + y% =4,

Verify Green’s theorem for § (xy+ y”)dx+ x*dy where C is the closed curve of
C

the region bounded by y = x and y=x

Verify Stoke’s theorem for the vector F = (x +y )I—ny} taken around the
rectangle bounded by x=0,x = 4 ,y=0,y=5.

Fit a curve of the form y = ge® for the given data,
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dy

2(y')2 +2p% + 2xy)dx

Derive Euler’s equation in standard form
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b
Find the extremal of the functional I (x

Find the total work done by the force F :(3xy)?— y}'+ 2xzk in moving a particle

round the circle x* + y% = 4,

Verify Green’s theorem f0r§ XY+ y )dx +x”dy where C is the closed curve of the

region bounded by y = x gnd 7=

Verify Stoke’s theorem for the vector }? (x +y ):—2xy J taken around the
rectangle bounded by x =0, x = a,y=0,y=5,
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